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1TH 366 12 378 385 9 394 751 21 112 383 13 2 398

it 2TH 1,394 26 1,420 1,357 32 1, 389 2, 751 58 2,809 1,250 30 5 1, 285
g 3TH 1,594 66 1, 660 1,489 75 1,564 3,083 141 3,224 1,614 86 18 1,718
it 3, 354 104 3, 458 3, 231 116 3, 347 6, 585 220 6, 805 3,247 129 25 3, 401

1TH 1,647 18 1, 665 1,673 23 1, 696 3,320 41 3, 361 1,473 12 22 1,507

2TH 457 11 468 432 17 449 889 28 917 421 16 4 441

= 3TH 1,004 26 1, 030 1,024 31 1,055 2,028 57 2,085 980 29 14 1,023
= 4TH 976 14 990 1,005 23 1,028 1, 981 37 2,018 1,038 23 8 1, 069
5TH 1, 361 34 1, 395 1, 304 47 1, 351 2,665 81 2, 746 1,572 47 17 1, 636

6T H 1,267 52 1,319 1,191 54 1, 245 2,458 106 2,564 1,490 71 19 1, 580

£t 6,712 155 6, 867 6, 629 195 6, 824 13, 341 350 13, 691 6,974 198 84 1, 256

1TH 425 7 432 408 3 411 833 10 843 428 7 3 438

2TH 1,119 17 1,136 1,093 23 1,116 2,212 40 2,252 942 17 17 976

5 3TH 893 7 900 945 11 956 1,838 18 1, 856 934 9 6 949
4TH 901 16 917 917 18 935 1,818 34 1, 852 993 17 12 1,022
5TH 1,292 18 1,310 1,339 22 1, 361 2,631 40 2,671 1,264 18 16 1, 298

£t 4 630 65 4 695 4 702 71 4 779 9, 332 142 9 474 4 561 68 54 4 683

1TH 1,693 47 1, 740 1,687 57 1, 744 3, 380 104 3,484 1,490 43 27 1, 560

51 2TH 1,871 37 1, 908 1,938 55 1,993 3, 809 92 3,901 1, 890 48 22 1, 960
b7 3TH 1,378 66 1, 444 1,478 59 1,537 2,856 125 2,981 1,568 72 26 1, 666
£t 4 942 150 5,092 5,103 171 5,274 10, 045 321 10, 366 4 948 163 75 5,186

= 1TH 230 230 237 10 247 467 10 477 192 8 2 202
iR 2TH 480 28 508 511 29 540 991 57 1, 048 475 18 5 498
it 710 28 738 748 39 187 1, 458 67 1,525 667 26 7 700

= 1TH 731 34 765 802 40 842 1,533 74 1,607 807 49 7 863
I 2TH 2,579 102 2, 681 2,182 120 2,902 5,361 222 5,583 2,961 151 30 3,142
5t 3,310 136 3, 446 3,584 160 3,744 6, 894 296 7,190 3,768 200 37 4 005
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1TH 2,547 79 2. 626 2,421 49 2,470 4 968 128 5,096 2,256 77 28 2, 361

*H 2TH 1,508 21 1,529 1,421 23 1,444 2,929 44 2,973 1,212 16 16 1,244

B 3TH 824 28 852 741 24 765 1, 565 52 1,617 749 16 17 782

il 4 879 128 5,007 4, 583 96 4,679 9, 462 224 9, 686 4 217 109 61 4, 387

1TH 649 47 696 643 24 667 1,292 71 1, 363 565 48 4 617

= 2TH 848 8 856 749 10 759 1,597 18 1,615 712 7 10 729

1,3— 3TH 693 22 715 674 6 680 1,367 28 1, 395 543 20 7 570

4TH 662 60 122 132 22 754 1,394 82 1,476 613 53 12 678

£t 2,852 137 2,989 2,798 62 2, 860 5, 650 199 5,849 2,433 128 33 2,594

1TH 1,568 15 1, 583 1,625 15 1, 640 3,193 30 3,223 1, 364 12 10 1, 386

= 2TH 691 15 706 687 13 700 1,378 28 1, 406 563 16 4 583

3TH 1,143 27 1,170 1,219 35 1, 254 2,362 62 2,424 1,237 34 12 1, 283

£t 3, 402 57 3, 459 3, 531 63 3,594 6, 933 120 7,053 3,164 62 26 3, 252

i 1TH 233 15 248 225 5 230 458 20 478 204 14 4 222

] 2TH 383 383 407 4 411 790 4 794 351 1 3 355

S 3TH 134 4 138 186 2 188 320 6 326 206 5 1 212

£t 750 19 769 818 11 829 1, 568 30 1, 598 761 20 8 789

* 1TH 587 12 599 595 20 615 1,182 32 1,214 576 16 8 600

% 2TH 36 36 32 32 68 68 24 24

il 623 12 635 627 20 647 1, 250 32 1,282 600 16 8 624

25 1TH 783 783 704 2 706 1,487 2 1, 489 580 2 582
1z fth @ th 15

5t 783 783 704 2 706 1,487 2 1,489 580 2 582

& &t 80,340| 1.975| 82.315| 81.120] 2.000| 83,129] 161.469| 3.975| 165 444 75 123| 2.102 859| 78,084




